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PART—I

English Language

Directions (Q. Nos. 1 to 5) : Fill in the
blanks with a/an/the.

1. Your brother is appointed as

Ss 519,07

(A) the

g oy
© a okl

(D) More than one of the above

(E) None of the above

2. If I can’t move this desk, will
you give it push?

(A) the
(B) an
A a

(D) More than one of the above

4. Anand went to the doctor

because he had _ ear
infection.

(A) the
\jﬁl an
€) a
(D) More than one of the above
(E) None of the above

He is pursuing MA from
University.

(A) the

B an

€ a
(D) More than one of the above

(E) None of the above

(E) None of the above Directions (Q. Nos. 6 to 10) : Choose

the correct alternative for each of the

3. Bring book 1 gave you followng.
yesterday. 6. Which is not a part of a plant?
(A) a \’(A)" Birds and animals
(B) an

(B) Branches
\,(Ef the

(D) . More than one of the above

(C) Leaves

(D) More than one of the above

(E) None of the above (E) None of the above
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dell
Stamp


7. Which of the following you do
not use in a computer?

um‘ Toothbrush

(B) Keyboard

(C) Hard dﬁve
JO df 1o saai

(D) More tha.n one oi‘ the above

o
. % 4

ey

HITEBIDILGT J. TEHYY

(E] Nonehof the above .

7 sﬂimm 5Y

10. Which of the following is not
found in a hospital?

M Telescope
(B) Operation theatre
(C) Nurse L
(D) More than one of the above
(E) None of the above

Dimetions (Q Nos. 11 to 15) :
Complete the sentences given below
using the correct alternative.




14. If today is the 12th of December,
the next month will be

(A) February

(D) More than one of the ahove

er o3 LI &2k

) None of bov
mupprrsils toaros

-

17. - Grandfather’s father is o
(A) father P ‘
\JBY great grandfather -
(C) grandpa
(D) More than one of the above

(E) None of the above

i (o b B~ WD

18. Mother’s father is
R [+ g




pirections (Q. Nos. 21 to 25)
Choose the correct option to the
questions based on the given passage.

Once upon a time, a hunter came to a
forest. It was summer, and water was
scarce. Many of the animals had died of
thirst. The hunter killed a deer and
took it back to his house. The Forest
God was very sad because he could not

protect his animals. He prayed to the
Rain God and the monsoon, arrived.

23. In which season did the animals
have enough to eat and drink?

(A) All through the year

u;Bf Monsoon

(C) Summer

(D) More than one of the above

i :]
(E) None of the above
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PART—II
Hindi Language

H-26. Reffed # @ 39-a1 = s=m
7 77

(A) o
svods add o smol ()

(D) ST # Q0§ e
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H-35. ‘TewE’ wee # #R-d @ i 87
(A) F0 W ER '

ypr e

(C) & Y

(D) e # & T & s
By w5 AT (3

Ho 36 A 40 TF) : IS T &Y




ﬁﬁa ﬂmw%? (A), B), (C)
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H-50. <&
(A) e
(B) @ -
(C) ==
B 3w A v @ it
(E) 3wt A 4 5 7

f¥w (w7 "o 51 ¥ 55 %) : PR
arEt & Wt R 1 @ AR S e B
WY ® 91 (A), (B), (C), (D) R (E)# & @&
foea =1 53m hifvw) o
H-51. 9iad gfEene §)

(A) vl wigs & §)

By wand umw 7|

(C) wliamd T 7

(D) 394w & O ©F A IRH

(E) 3% 4 | =I5 7€

H-52. s # giarsdt & a1g on it 2|

(A) = g gfe e § gu S
2l -«

H-54. Wﬁ@m’j@a@ma&'

A) TR F S S g
2 ,
(B) Wﬁaﬁ mﬁ?ﬁmél

(C) gzzah'a; 3 e TRIE B

Ry T # 8 T R S
(E) 39 | & g el

H-55. 3 apfi FagAeT gC |
(A) =@ 3r+fi it Sea we gT R
BT a8 anft AT S gu R
(C) =& nsft et g B
(D) :ﬂﬂ?ﬁ_ﬁﬁwﬁm
(E) 39 & & +IE 7

“[B)ﬁmﬁqﬁmﬁﬂ‘%ﬁmaﬂ P (7w Ho 56 ¥ 60 7) : R g v ¥

Toeim w2 g (), (B), (
et & » (B), (C), (D) 3k (E) &
. 7 .
\JCY Era # Afet & arg o s ) Fet e i S i
(D) 37w & & T ¥ arf d
(E) 3§ & i
H.53. # 51 i s €1 - i
(A) # @ ween s ) (B) 3mm
(B) & ol e s €
o S 2 ) o (D) ¥4 7w 4 s
G . 7 ) 30w 44 vt
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friw (v o 61 ¥ 65 TH) . Prefafea
o A T T Y@tk ¥l T @i
o= 3 B (4), (B), (), (D) ¥ (E) % &H
@-ﬁﬁmﬁmw%lgﬁﬁmw%
forg o 41 gt & I Torehed FAHL IWH-TAD




H-64. R gfgFfRar H-68., FT%
I ¥y i () A
m (B) s _ yf F
el | () Frafra |
(D) 3T ¥ | TF Q@ AUF (D) I # A T @ AE
(E) mﬁﬁﬁ%aﬂs‘wﬁ (E) 3o i & Fg T

H-65. thugmm i H-69. 31
(A) ﬁ‘?ﬁ | 55 (A) =
(B) 3w LR (B) @
(D) TEH A TH A A (D) 39w # 4 0% & aqf?::?
(E]u_ Iﬂﬁ?ﬁ ? aa’ﬂg:@\m} ' S N A TS T

b _ ;% AR fd)
(m o 71 @r 75 aas)




H-72. <o @ A A fgm (o do 76 ¥ 80 Tw) : FreAEa
| ¥ suges @ w1 7 H (A), (B), (C),

(Ajémﬁ | Bt (D) ¥ (E) & & v e 1 = HC

H-76. 3% ¢
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